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Table 2.1: DO OOOOOO

goo 0O go (gb ob (ob
HEN Al1100 | 180 | 110 | 2.5 2
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Table 2.2: 000000000 [mm]
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og 2350 1000 1.3 0.55

Table 2.3: DO ODOOO0O

Fig. 22 OO0OO0O0O0OOODO

Fig. 23: 00000000

Fig. 24: 0000
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030 oogd

goo |b0bboodg (goobb |bbodgd
0O 0.29 0.13 0.42
0O 0.30 0.12 0.42
0O 0.28 0.14 0.42
00 0.27 0.12 0.39

Table 3.1: 00002 (000027 [¢/min] 00000000000

gboo |bbood (ooobb |bbodo
00 0.34 0.081 0.42
00 0.33 0.079 0.41
0O 0.34 0.084 0.42
0O 0.31 0.083 0.39

Table 3.2: 00005 (000027 [¢/min)] 00000000000

goo |b0bboodg (goobb |bbodgd
0O 0.37 0.048 0.42
HRN 0.38 0.048 0.42
00 0.38 0.046 0.42
00 0.37 0.042 0.41

Table 3.3: 00010 (000027 [¢/min] 00000000000

goo |b0bbood (ooobb |bbodgo
00 0.40 0.033 0.43
00 0.40 0.035 0.43
00 0.40 0.030 0.43
0O 0.40 0.026 0.43
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goo |b0bbood (ooobb |bbodgo
00 0.42 0.023 0.44
00 0.41 0.026 0.43
0O 0.42 0.022 0.44
00 0.42 0.018 0.44

Table 3.5: 00 02.0 (000027 [¢/min)] 00000000000

gboobboudg (ooobb bbbod juogob
gobooo 0.37 0.042 0.41
gobooo 0.35 0.060 0.41
gobooo 0.36 0.022 0.38
gobooo 0.41 0.046 0.45
goooo 0.42 0.064 0.48

Table 3.6: OO0 ODOOOOODOODOOOO

goo |b0bbood (ooobb |bbodgo
00 0.42 0.064 0.48
00 0.33 0.11 0.44

Table 3.7. OO0 0OO0OOO0OODOODOOOO
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